Elizabeth Doughe Requester's Name) 244 Shopping Ave., Address Sarasuta, FL 342 City/State/Zip Phone	2222 exty #140 37	FILED 00 MAR -3 AM 10: 46 DEVALIARY OF STATE TALLAHASSEE, FLORIDA
1. Corporation Name (S) & DOC (Corporation Name) 2. (Corporation Name)		Office Use Only EFFECTIVE DATE 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(Corporation Name) 4	(Document #) (Document #) Photocopy	☐ Certified Copy ☐ Certificate of Status
NEW FILINGS Profit Not for Profit Limited Liability Domestication Other	AMENDMENTS Amendment Resignation of R Change of Regis Dissolution/With Merger	
OTHER FILINGS Annual Report Fictitious Name	REGISTRATION/Q Foreign Limited Partners Reinstatement Trademark Other	
CR2E031(7/97)		Examiner's Initials



March 9, 2000

ELIZABETH DOUGHERTY 244 SHOPPING AVE #140 SARASOTA, FL 34237

SUBJECT: THYME SAVORS, INC. Ref. Number: W00000006354

We have received your document for THYME SAVORS, INC. and check(s) totaling \$78.00. However, the enclosed document has not been filed and is being returned to you for the following reason(s):

The name designated in your document is unavailable since it is the same as, or it is not distinguishable from the name of an existing entity.

Please select a new name and make the correction in all appropriate places. One or more major words may be added to make the name distinguishable from the one presently on file.

Adding "of Florida" or "Florida" to the end of a name is not acceptable.

If you have any further questions concerning your document, please call (850) 487-6915.

Pamela Hall Document Specialist

Letter Number: 800A00013142

ARTICLES OF INCORPORATION

<u>OF</u>

FILED

00 MAR -3 AM 10: 47

SECRETARY OF STATE TALLAHASSEE, FLORIDA

of salasota, THYME SAVORS INC.

EFFECTIVE DATE

ARTICLE I - NAME

OF SARASOTA,

The name of this Corporation is THYME SAVORS INC. and the address of the Corporation is 244 Shopping Avenue, #140, Sarasota, Florida 34237.

ARTICLE II - DURATION

This Corporation shall commence its existence on the 1st day of March, 2000 with the filing of these Articles with the Secretary of State.

ARTICLE III - PURPOSE

This Corporation may engage in or transact any or all lawful activities or businesses permitted under the laws of the united States, the state of Florida, or any other state, country, territory, or nation.

ARTICLE IV - CAPITAL STOCK

This Corporation is authorized to issue One Thousand (1000) shares of One Dollar (\$ 1.00) par value common stock which shall be designated "Common Shares".

ARTICLE V - INITIAL REGISTERED OFFICE AND AGENT

The street address of the initial registered office of this Corporation is 244 Shopping Avenue, #140, Sarasota, Florida 34237, and the name of the initial registered agent of this Corporation at that address is Elizabeth Dougherty.

ARTICLE VI - INITIAL BOARD OF DIRECTORS

This Corporation shall have one (1) director initially. The number of directors may be either increased or decreased from time to time by the by-laws but shall never be less than one (1). The name and address of the initial director of this Corporation is:

Elizabeth Dougherty 244 Shopping Avenue #140 Sarasota, Florida 34237

The name and address of the natural person signing these Articles is:

Elizabeth Dougherty 244 Shopping Avenue #140 Sarasota, Florida 34237

ARTICLE VII - AMENDMENT

This Corporation reserves the right to amend or repeal any provisions contained in these Articles of Incorporation, or any amendment to them, and any rights conferred upon the shareholders is subject to this reservation.

IN WITNESS WHEREOF, the undersigned subscriber have executed these Articles of Incorporationon this 1st day of March, 2000 with all rights explicitly reserved under UCC 1-207,

Elizabeth Dougherty

ACKNOWLEDGMENT

state of Florida

county of Hillsborough

I HEREBY CERTIFY that on this 1st day of March, 2000, personally appeared before me, the undersigned officer duly authorized to administer oaths and take acknowledgments, Elizabeth Dougherty, to me well known and known to be the natural person who executed the foregoing Articles of Incorporation, Thyme Savors Inc., and she acknowledged that she signed and executed the same for the purpose herein stated.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed my official seal at Hillsborough, in said county and state, this 1st day of March, 2000.

Notary Public- state of Florida

Androw S. Forman
MY COMMISSION # CC573979 EXPIRES
July 31, 2000
BONDED THRU TROY FAIN INSURANCE, INC.

Certificate designating place of business of domicile for the service of process within Florida, naming agent upon whom process may be served.

In compliance with Section 48.091 of the Florida Statutes, the following is submitted:

First that Thyme Savors, Inc. desiring to organize or qualify under the laws of the state of Florida, its principal place of business in the city of Sarasota, Florida has named Elizabeth Dougherty, 244 Shopping Avenue, #140, Sarasota, Florida 34237 as its agent to accept service process within Florida with all rights explicity reserved under UCC 1-207,

Elizabeth Dougherty

Date: March 1, 2000

ACCEPTANCE

Having been named to accept service of process for the above named Corporation at the place designated in the Certificate, I hereby agree to act in this capacity, and I further agree to comply with the provisions of all Statutes relative to the proper and complete performance of my duties with all rights explicity reserved under UCC 1-207.

Elizabeth Dougherty

Date: March 1, 2000

state of Florida

county of Hillsborough

SWORN TO AND SUBSCRIBED before me this 1st day of March, 2000, in said county and state.

Notary Public - state of Florida

Andrew S. Forman MY COMMISSION # CC573979 EXPIRES July 31, 2000 BONDED THRU TROY FAIN INSURANCE, INC.